®3x—5 @ x-1 ® 2x+1

@ x+4 ® 3x+5

3x2 —8x+5=(3x—-5)(x—1)
6x2 —Tx—5=(3x-5)(2x + 1)

BEQ A4 3x—5




2. ¥*-7x-8 E QJASES|SHH?

O @+1)E+8) @ (x-1)x-8) @r+1)(x-8)
@ (x—1)(x+38) ® (x—2)(x—4)

‘ ¥ -Tx-8=(x+1)(x-28)




4a+3

D 2a+1 @)2a + 2 ® 2a+3

@ 2a-2 ® 2a+4

~&B

1
S=4a2+7a+3=§x(“£tﬂ)x(4a+3

~

8a% + 14a + 6 = (4a+3)(2a +2) = (UH) x (4a + 3)
et WO o= 2¢ + 2 o]t




4. -y -x+5y-6=A(x+y-3) ™, AS o7

O x+y+2 @ 3x-y+2 @ x-y+4
@x—y+2 ® x-3y+2

B

x> =y?—x+5y—6
=x*—x-(y* -5y +6)
=x-x-(y=-3)(y-2)
{x+0-3)}{x-0-2)}
=(x+y-3)(x—-y+2)
LA=x-y+2




5. a=3V2-2V3,b=V2+ V3< W, 2V3a - 6V2b 2] Fr-2?

@24 ©-2 212 @u 60

B

2v3a - 6V2b
=2V3(3v2-2V3) - 6v2 (V2 + V3)

=6v6-12-12-66
=-24




